NCAF—7Ib
IV NC Rotary Table

TABLE

MR series MR120 - MR160 - MR200

AVINI ENCAT—TIVODRER RE2 2/ 3—F247
Industry standard compact rotary table

@V > ANV hERET
Minimum size in its class
@ZEE VT Ttk Pneumatic spec
Or)TIVTARI TL—FARICKBRNZEEYZ T ML
Powerful pneumatic clamping torque by triple disk brake system
@=:E([E#: High speed rotation
@=45E High accuracy
@ —4Z2UT a1 MEFATRE
Rotary Joint built in as option
@\ EIM/ClTRIE
Ideal for compact machining centres
*CEXfiam CE correspondence

MR160R (L) V

JeEBIY bO—314)
(With Kitagawa own controller)

MR160R(L)V
(F#7¥arn—2UTa1> FIR)
(Rotary Joint built in as option)

{ERAEH Sample Application

ANSZAVIIPIBBR)T LUZELGMIE ATENEOT—JIVERELEYT AKITAGAWARRHSTERF vy vEEhET
KRLET Table with T-slot can also be offered. RET—IFR—IVTav7HEDETTHHL
Various trunnion systems available. feEn
(See P113). Only Kitagawa can offer this combination of

NC Rotary Table and chuck



(ditagawa

{hnEh{it#x 4th axis specifications M{ES{1# M signal specification
is T—IHA4X t TH1UBS g FT—IWHA4X L THAUES
Type Table Size Design No. Type Table Size Design No.
120-160-200 E—4%E%E Motor type 120-160-200 Quintefttx
495> 7 73 Clamping method Quinte specification
ZE[EDJ* Only Pneumatic ZeE{THR
AHBRSF Right/Left hand Clamping method Pneumatic
R : GBS Right hand R : AR Right hand
L : £ F Left hand L : E£BF Left hand
M {1#% Specifications
B 3{ Model MR120 MR160 MR200
AR F Right hand O O O
EBFE Left hand O O O
F—7IVER Table dia (mm) ¢128 ¢165 $202
T—7 IV E#£74% Register diameter on Face Plate (mm) ®50H7 ¢ 50H7 ¢ 65H7
7—7)VEi@7Z Spindle through hole diameter (mm) $32 040 045
%I\ b Centre Height (mm) 120 140 140

492> 77 Clamping method

Z2[E Pneumatic

ZE[¥ Pneumatic

ZE[E Pneumatic

25T ML (Z=E0.5MPaEs) (N-m)

O—2YJ 34k GF7vav-P1158R)
Rotary Joint (as an option-P101 reference)

SME/ZEE3R— b
Hydrauric/Pneumatic 3-port

Clamping torque (In pneumatic 0.5MPa) 150 310 350
T— 288 7+ —+ Motor axis reduced inertia (kg:m2) 0.00004 0.00008 0.00017
H—RE—% (FANUCHAEZDIZS) Servomotor (for FANUC specification) aiF 2/5000 aiF 2/5000 aiF 4/5000
IR L Gear ratio 1/60 1/72 1/90
FANUC{E#% (min-1/£—%3000min-1kf)
EEEERE FANUC specification(for min-1/motor 3000min-1) >0 41.6 333
Max. spindle speed | M2 (min-/E—43000min-1E)
Msignal specification(for min-/motor 3000min-1) 50 416 33.3
SFRT7—%-147F—+ Allowable work inertia (kg-m2) 0.22 0.51 1.00
£ HH#EE Indexing accuracy (sec) 20 20 20
FBIRTEE Repeatability (sec) 4 4 4
B2 E & Mass of product (kg) 33 M 61
FET—IVANY Y GFTvar-PI0788)
Manual Tailstock (as an option-P107 reference) MR120RN MR160RN MR200RN
T—IVAEV RIV (A 73> - PINBR) #)5
Tail Spindle (@s an option-P111 reference) Note)s TSR121A MSR142A/TSR142A MSR142A/TSR142A
RJ32-12Q04 RJ40H16Q RJ40H20Q02

SME/Z=EAR—b
Hydrauric/Pneumatic 4-port

SHE/ZEEAR— b
Hydrauric/Pneumatic 4-port

JOEE (kg)
. — Horizontal 120 160 200
A o
owable Loa _
27 EZ (ko) 0 o .
Vertical
F @ 8 10 17
am FXL (N-m)
(F=Wo5>TH) ‘m
Allowable load & 350 600 1100
(When clamped to table)
P () @ 150 310 350
=
SFRYIEINLY T (N-m)
Allowable cutting torque 180 220 270

) LESREIRAARAY FIENCT —TILDTC DM - LRZBR £ —RICHBL TLVE T,

T—IIWROR—AISHBLTBYE LA,

WICLOTRGED A PINDT —IVAE Y R VHERICTE Yy FaBBREL,

27T SV TRYL/ARNIVIIERELTWEY,
40—2)2 34> bDOT =7 VERERIR—FEHIEMRI20, 2001&FA7 —7)VAIEE. MR160IEEERIEE LGV E T,
6 HMREBIIFEHMESHRBHOEETT,

SNCT—7)b& TR & DRI D
SEUTE Y FHE

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. The solenoid valve for the table clamp is incorporated. 3. Neither cable
nor hose is fitted between NC rotary table and machine tool... 4.In the port part on the table surface jig side of a rotary joint, MR120 or 200 is fixed to the rotary table
side and MR160 to jig side. 5. Because a mounting pitch varies with the machines, refer to the pitch of the table spindle size drawing on P111. 6. Each product mass is

determined by a Kitagawa M signal spec.

0]



NC ROTARY
TABLE

MR series MR120 - MR160 - MR200

W~ R [fFhnEh{14#%] Dimensions [4th axis specifications]

MR120R (L)

Rc1/4
95 RN
E@EHIET) mFLL

Clamping air supply port . N
IEHREO—21) Y34 > NS B
In mounting the standard rotary joint M12X45
5 136 105 ST EE A

(on back side)

205

MR160R (L)

46 Table surface © &ijr‘ﬁj
T
/\ 3-M5 o ol [T
‘ s j s ol |
Q =) e e 13
9 SR /B IF & ot AR
N - ’ 24 20| \ o D &
\6-M5 - —F
7’J:] il 135.5 285
K10 o
179 208 131 F—7 VBB 95V THE
Thru-Hole Diameter Clamping Device
Rc1/4
ISV TREEMGO
(E@cHIET)
Clamping air supply port
(on back side)
404 5 145 107 ARV
Hex bolt

o

92 312 485 BEO—2)Y 34 > FEYTE
i In mounting the standard rotary joint M16X55
o T—7IVE@E
Table surface
— ©
> | 2
¢ TONE F=—/=2 g
é - 0 = 16

E)HG

© ~ I
> s V= \u T w—— =
— 1 3 >
2 S ==Y IR | i %; ﬂt T 1% .
< 5 <\ 6-
- . \ 144 30,
— k—/’:ﬁ
== == —
o &l S F—IIVEER 55788
Thru-Hole Diameter Clamping Device
142
Rc1/4
U5 TRZEEHEA
(E@EICHIET)
MRZOOR(L) Clamping air supply port
(on back side)
457 5 173 109 .
BREO—R1) T 34> MEUTEE
345 46 In mounting the standard rotary joint
7NARIV K Hex bolt
F—7)VLE
Table surface
K = N ©
ﬂ " é:“ 3-M5 §
~
s LHH an N STar T o T
o = 9l & ER R 77”%:%7777 6
Q b — & - -
Qo 20 | \6-M6 g*@
- 172 L
1 [ :f 30
A & ,‘9 0 - 1059&
~ ﬁf F—7IVEER 95V 7%8
168 Thru-Hole Diameter Clamping Device

¥ ESRNRTAISFANUCHER Y, It E— 2R DIBE TEDRED I EHBHYET, RIABFAHR. LI>IEBFLRTT,
*The above dimensions are the same as FANUC specifications. Those dimensions may vary from motor to motor that is mounted.
Ris a right hand spec. and L is a left hand spec.




*E—ZOERICKINETEDNEDLDEREED HYE T,
*The dimensions may vary from motor to motor that is mounted.

W~HEE [Ee)IIEA 3 fOo—>44] Dimensions [Kitagawa own controller]

(ditagawa

MR120R(L) REFRI
JNAN
Hex bolt
Rc1/4 M12X45
U5V TRITHEO ZHEO—45 )Y aA > MEUTES
316 Clamping air supply po In mounting the standard rotary joint -
85 231 — 1
6-M8 5 46 F—T)VEE N m
\ . = Table surface 11
601~ N L. 2 —
S 3-M5 o > L
8| . "N : ~ 9 13
CH D g s =—mc i
83 St :;_ [Xo) 7 © Y ) N
~ % [F=Q) o o~ Al — — 1
S e VQ, Lt 20l N\ s 285
O El ] - 1355
Tw _H- — '
14 & & = . . =
10 9 T IVEENR 5 T78E
179 137 131 Thru-Hole Diameter Clamping Device
MR160R (L) BRI
VAY::lN
F;d_/ll —— Hex bolt
z T
Clamping airsupplyuport M16X55
337
6-M10 22 245 EEO—21) D 34 NEYT B — ‘ J
’ . b
- R 5 145 485 In mounting the standard rotary joint m
Ok - F—I)VEE
s o = Table surface @ %"*4{
Q. } g pal ] 16
<Y 2 ~ - <
& 0 D | %’7
2 = ISES © T == f,OE I —
S 5( Rwwe A ° ° I s
I e 28 2 6-M6 I \
(9p") S | 0y 144 w| |30,
T}fh$ o [b— ] Y 4\\ pSe= ] & I\
L s O o
201 134 142 ru-Hole Diameter amping Device
MR200R (L)
Rc1/4
SV TRITEBO
Clamping air supply port
373 g 4
1BHEO—21) V34> NEUTEF N
In mounting the standard rotary joint BRIV
6-M10 5 173 46 Hex bolt
146  iE M16X50
Table surface ‘
«©
° aMs L Qj:
= I . 3
© Q Il o 1 © ' :*:
=} =
3 3 (LT 0 <
o o 35 20 6-M6 © 7&7
S 1 | 172 &
N = 10 10| I — \ N =~
T—7IVEEN Iov78EE
168 Thru-Hole Diameter Clamping Device
MRIFABF AR LITEBFARTY,
%Ris aright hand spec. and L is a left hand spec.




